

AL

1. (20 points) Solve the equation $\frac{dy}{dx} = \frac{e^{-y} \cos^2 x}{1+y}$ with $y(0) = 1$. Justify your answer.

$$\frac{dy}{dx}(1+y) = e^{-y} \cos^2 x$$

$$dy(1+y)e^y = \cos^2 x dx$$

$$e^y y = \frac{x}{2} + \frac{\sin(2x)}{4} + e \quad (y \neq -1)$$

$y \neq -1$

separable

$$\int e^y(1+y) dy = \int \cos^2 x dx$$

$$u = 1+y \quad dv = e^y dy$$

$$u = dy \quad v = e^y$$

$$\int \frac{1 + \cos(2x)}{2} dx$$

$$\frac{x}{2} + \frac{\sin(2x)}{4}$$

$$e^y(1+y) - \int e^y dy = \frac{x}{2} + \frac{\sin(2x)}{4}$$

$$e^y(1+y) - e^y + C = \frac{x}{2} + \frac{\sin(2x)}{4}$$

$$e^y(1+y-1) = \frac{x}{2} + \frac{\sin(2x)}{4} + C$$

$$e^y y = \frac{x}{2} + \frac{\sin(2x)}{4} + C \quad y(0) = 1$$

$$e^1(1) = 0 + 0 + C$$

$$e = C$$

2. (20 points) Solve the equation $\frac{dy}{dx} = \frac{y + xe^{-\frac{y}{x}}}{x}$, $x \neq 0$. Justify your answer.

$$\frac{dy}{dx} = \frac{y + xe^{-\frac{y}{x}}}{x} \quad \text{homog?} \quad \frac{ty + txe^{-\frac{y}{x}}}{tx} = \frac{y + xe^{-\frac{y}{x}}}{x} \quad \text{yes, homog of deg 0}$$

$$y = vx \rightarrow \frac{dy}{dx} = \frac{dv}{dx}x + v$$

$$\frac{dv}{dx}x + v = \frac{vx + xe^{-\frac{v}{x}}}{x} = \frac{vx + xe^{-v}}{x} = v + e^{-v}$$

$$\frac{dv}{dx}x + v = \cancel{v} + e^{-v}$$

$$\frac{dv}{dx}x = e^{-v}$$

$$\int e^v dv = \int \frac{1}{x} dx$$

$$e^v = \ln|x| + c$$

$$v = \ln(\ln|x| + c)$$

$$\frac{y}{x} = \ln(\ln|x| + c)$$

$$y = x \ln(\ln|x| + c)$$

$$v = \frac{y}{x}$$

20

AL

3. (a) (10 points) Solve the equation $y'' + 6y' + 9y = 0$. Here $y = y(t)$ is a function of t . Justify your answer.

2nd order linear DE
Characteristic eqn: $\lambda^2 + 6\lambda + 9 = 0$

$(\lambda + 3)^2 = 0 \implies \lambda = -3 \rightarrow c_1 e^{-3t}$ is one ^{solution to the DE} ~~part of the~~ ~~solution~~

10

Try $y_p = te^{-3t}$

$$y_p' = t(-3e^{-3t}) + e^{-3t} = e^{-3t}(-3t + 1)$$

$$y_p'' = (-3t + 1)(-3e^{-3t}) + e^{-3t}(-3) = (-3e^{-3t})(-3t + 1 + 1) = -3e^{-3t}(-3t + 2)$$

$$-3e^{-3t}(-3t + 2) + 6(e^{-3t}(-3t + 1)) + 9te^{-3t} \stackrel{?}{=} 0$$

$$-3(-3t + 2) + 6(-3t + 1) + 9t = 0$$

$$(+9t) - 6 + (-18t) + 6 + 9t = 0$$

$$-6 + 6 = 0$$

$$0 = 0 \checkmark$$

$$\implies y = c_1 e^{-3t} + c_2 t e^{-3t}$$

need y_p

3

(b) (10 points) Solve the equation $y'' + 6y' + 9y = e^{-3t} + t^2$. Justify your answer.

Solve homog. eqn $y'' + 6y' + 9y = 0$

$$y = c_1 e^{-3t} + c_2 t e^{-3t}$$

Find a particular soln to this eqn. Guess $y_p = ae^{-3t} + bt^2$

$$y_p = ae^{-3t} + bt^2$$

$$y_p' = -3ae^{-3t} + 2bt$$

$$y_p'' = 9ae^{-3t} + 2b$$

$$(9ae^{-3t} + 2b) + 6(-3ae^{-3t} + 2bt) + 9(ae^{-3t} + bt^2) = e^{-3t} + t^2$$

$$2b + 12bt + 9bt^2 = e^{-3t} + t^2 \quad \checkmark \text{ didn't work}$$

$$y = v_1 y_1 + v_2 y_2$$

$$v_1 = \int \frac{-y_2 f}{W} dt$$

$$v_2 = \int \frac{-y_1 f}{W} dt$$

$$y_1 = e^{-3t}$$

$$y_2 = te^{-3t}$$

$$y_1' = -3e^{-3t}$$

$$y_2' = e^{-3t} + t(-3e^{-3t})$$

$$= e^{-3t}(-3t - 1)$$

$$W = e^{-6t}(-3t + 1) - (-3te^{-6t})$$

$$W = e^{-6t}(-3t + 1) + 3te^{-6t} = 3te^{-6t} + 3te^{-6t} = e^{-6t} = W$$

$$v_1 = \int \frac{-te^{-3t}(e^{-3t} + t^2)}{e^{-6t}} dt = \int -t dt$$

$$v_2 = \int e^{-3t} dt$$

guess $y_p = at^2 + bt + c$
 ① $y'' + 6y' + 9y = t^2$
 ② $y'' + 6y' + 9y = e^{-3t} \rightarrow$ guess $y_p = Ae^{-3t}$
 But that's a soln to homog. eqn, so guess Ate^{-3t}

Remember you can break up forcing term

AL

4. Let $f(t) = te^{2t}$ and $g(t) = t^2$ be two functions of t .

(a) (4 points) Compute the Wronskian of f and g .

$$W = \det \begin{pmatrix} y_1 & y_2 \\ y_1' & y_2' \end{pmatrix}$$

$$\begin{aligned} W &= f(t)g'(t) - f'(t)g(t) \\ &= te^{2t}(2t) - (e^{2t} + t(2e^{2t}))t^2 \\ &= 2t^2e^{2t} - (e^{2t} + 2te^{2t})t^2 \\ &= 2t^2e^{2t} - t^2e^{2t} - 2t^3e^{2t} \\ W &= t^2e^{2t} - 2t^3e^{2t} \end{aligned}$$

(b) (8 points) Show that f and g are linearly independent functions of t .

$W(t) \neq 0, \forall t \Leftrightarrow f$ and g are linearly independent. From (a), $W = t^2e^{2t} - 2t^3e^{2t}$

Also, To show f and g are lin. ind., assume they are lin. dependent.

then $f = cg$ where c is a constant

$$te^{2t} = t^2c \quad c = \frac{te^{2t}}{t^2} = \frac{e^{2t}}{t}, \text{ which is not a constant.}$$

$\Rightarrow f$ and g are not lin. dependent

$\Rightarrow f$ and g are lin. ind.

(c) (8 points) Show that there do not exist differentiable functions $p(t)$ and $q(t)$ such that $y(t) = c_1f(t) + c_2g(t)$ is the general solution to $y'' + p(t)y' + q(t)y = 0$, where c_1 and c_2 are arbitrary constants.

Suppose \exists such a $p(t)$ and $q(t)$

then $y(t) = c_1f(t) + c_2g(t)$ is a soln

but ~~if~~ that's the case, \emptyset

then $W = 0 \forall t$ or $W \neq 0 \forall t$

By (a) $W(0) = 0$ and $W(1) \neq 0$

~~the~~ \Rightarrow contradiction

\Rightarrow there does not exist such a $p(t)$ and $q(t)$

AL

$$5. \frac{dy}{dt} = 3y^{\frac{2}{3}}(y-1)(y^2-9)\cos y$$

(a) (10 points) Find all the constant solutions that are (asymptotically) stable. Justify your answer.

Equilibrium solns: $\left(\frac{dy}{dt} = 0 \right) \rightarrow y = 0, 1, 3, -3, \left[\frac{\pi}{2}, \frac{3\pi}{2}, \frac{5\pi}{2}, \dots \right]$

Thm: If $\frac{d}{dy} (3y^{\frac{2}{3}}(y-1)(y^2-9)\cos y) < 0$ at an equilibrium point, then that point is asymptotically stable (from the book)

$$\frac{dy}{dt} = (3y^{\frac{5}{3}} - 3y^{\frac{2}{3}})(y^2-9)\cos y = (3y^{\frac{11}{3}} - 27y^{\frac{5}{3}} - 3y^{\frac{8}{3}} + 27y^{\frac{2}{3}})\cos y$$

$$\frac{d}{dy} \left(\frac{dy}{dt} \right) = \left(\frac{11}{3} \cdot 3y^{\frac{8}{3}} - 27 \cdot \frac{5}{3} y^{\frac{2}{3}} - \frac{8}{3} \cdot 3y^{\frac{5}{3}} + \frac{2}{3} \cdot 27y^{-\frac{1}{3}} \right) \cos y$$

$$- (\sin y) \left(3y^{\frac{11}{3}} - 3y^{\frac{8}{3}} - 27y^{\frac{5}{3}} + 27y^{\frac{2}{3}} \right) \quad \text{Try phase line.}$$

$$= (11y^{\frac{8}{3}} - 45y^{\frac{2}{3}} - 8y^{\frac{5}{3}} + 18y^{-\frac{1}{3}})\cos y - (3y^{\frac{11}{3}} - 3y^{\frac{8}{3}} - 27y^{\frac{5}{3}} + 27y^{\frac{2}{3}})\sin y$$

4/10

(b) (10 points) Are the solutions to the above equation together with the initial condition $y(0) = 1$ unique? Justify your answer.

They are unique if $\frac{dy}{dt}$ and $\frac{d}{dy} \left(\frac{dy}{dt} \right)$ are both continuous around $t=0$

By (a) $\rightarrow \frac{d}{dy} \left(\frac{dy}{dt} \right)$ contains $18y^{-\frac{1}{3}} = \frac{18}{\sqrt[3]{y}}$, which is not continuous

at $y = 0$

\Rightarrow solution is not unique

5/10